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Scanner NPONNN NN YA INOY DMV DNDN DINYNY DXOIP HaAPY NN DY
LSROVMONN (Java.util) mvITmLDN MO0 NIRNDIN
LDXNN Y IV MITIMNIN 7DD VOPNN NP N NPINN

: Scanner NPYNNN YV NMDWINN PHN PID

VYPA NNIAN NNN IR MNN -String next ()
VYDA RN OHYN 90NN NX MNN — int nextInt ()
LYPA NAN PVNNN 190NN IR PPN —double nextDouble ()

09D MY W ONN—boolean hasNext ()

$097090 VIPN NPYNN VINIY

import java.util.Scanner; :Scanner NPYNNN AN NIH W 1

(.nwPNWNN NPONNRN NIMD 1Y WA VIVNN)

SVITIVON VLIPNIN KNPN Scanner NPINNNN DSY (MNX DY) I8 v .2

Scanner input = new Scanner (System.in);

: DIV DOV 190N NVIDP MY ,5UND .0HPIN DIV YI-DY YD MVIVI YPNYND v .3

int num = input.nextInt ();

ININT
import Jjava.util.Scanner;
class Np?2mnn_DUW

{

public ATmIn_TMU N2109 0w ();

{
int num;

Scanner input = new Scanner (System.in);
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